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Gate-based Quick Quantum Infrastructure (gaqqie, A v ¥ —) https://github.com/gaqqie/gaqaqie
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from giskit import QuantumCircuit, execute
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from gaqqie_door import QiskitGaqqie
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circuit = QuantumCircuit(2, 2)
circuit.h(@)

circuit.cx(0, 1)
circuit.measure([0, 1], [0, 1])
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iurl = "https://<api-id>.execute—api.(region).amazonaws.com/<stage>"'

i QiskitGagqie.enable_account(url)
{ backend = QiskitGaqqie.get backend("qiskit_simulator™)

job = execute(circuit, backend)
result = job.result()
print(f"result job_id={job.job id()}, counts={result.get counts()}")
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url
app =

[}

"https://<api-id>.execute-api.<region>.amazonaws.com/<stage>"
Gaqgqie(url)

@app.receive_job(device name="qiskit_simulator", interval=10)
def receive_job(job):

# parse circuit
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# execute circuit

result = aer_job.result()

print(f"result job_id={job_id}, counts={result.get counts()}")
result_dict = result.to dict()

result_dict["backend_name"] = job.device_name

result_json = json.dumps(result_dict, indent=2)

# register result
Result(job_id=job_id, status="SUCCEEDED", results=result_json)
response = app.register result(job_result)

job_result =
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app.join()
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